L. "Who a;
5 :
o did the excavation work of Balathal
Civilization site?

(A) Prof. VN, Mishra
(B) Dayaram Sahni
(C) Neelratna Banerjee
(D) H.D, sankaliya

Which of the following is not correctly matched?
AIchaenIugical remains Civilization site
(A) Terracotta made Taurus figure - Ahad

(B) Ivory Comb - Kalibanga

(C) 99 percent pure copper equipment - Ganeshwar
(D) Roman Amphora - Barath

In which year the Debari Agreement was

‘concluded?

(A) 1721 AD
(B) 1708 AD
(C) 1728 AD
(D) 1934 AD
Which ruler established the 'Madrasa-e-Hunri' in

?
wmﬂmmmmﬁwﬁm

(AW, dtm. g

(B) sAmm w1 s
ram—— 7)ot e
.—-—_____'_____________,_

(D) w= =, Giesfera

T & et e =8t &2

WW i
(A) T Fifa gus - oTES

(B) et <ret =1 Fe - Ll

(©) 99 e Y@ TH I - TR

(D) T Ao - e
<ot o e o T g

(A)1721 %.
(B) 1?63@. ;
(C)1728 ¢
(D) 1934 %.

g -t R 9 e v w3

Jaipur?
(A) Sawai Ram Singh II () e et
(B) Sawai Madho Singh ET—
(C) Sawai Pratap Singh (Cy o vl
(D) Sawai Mansingh II (D) e R
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5. Wi e

©r¢ was Rajasthan Seva Sangh

1919 A9
(A) Kanpur
(B) Ajmer
(C) Wardha
(D) Udaipyr

established in

Which is a false statement in the context of

medieval political and administrative system?
(A) The land under the control of the king was
called Khalsa.

(B) Rajvi, Sardar, Mutsadi and Ganayat were the

categories of feudatories prevalent in the state
of Marwar,

(C) Matak, Vichhayat, Chu-Sarai etc. were related

to the revenue records.

(D) The Saad Pratha of land settlement was
prevalent in the state of Mewar.

Which military cantonment was looted by the

——

5. 1919 3. A T W T e R

(A)FTR
(B) L
(C)af

(D) FEAR

6 o TR o G o & He H s

- FH R
(A) T 3 Frdaw H mﬁﬁlﬁmmﬁﬁ 4|

. (B) Tl R, Tt A T IS T 4 e
[rHd] =1 AT o |
BiE

(C) Wz, Tomrm, g-wed anfe =1 Hain Tores feld
q a1

(D) 4fir e =t w18 Hen Hors v F vt o

7. HiwE & wifewil #f A e s e e it

103M]

revolutionary soldiers of Neemuch while gt?ing to T A
Delhi? S
(A) Nasirabad {A)weﬁmm
(B) Erinpura (B) Tgn
(C) Beawar (C) =R
(D) Deoli (D) Tt
Page 4 of 48 Freay
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mn is the first Rajasthani to be awarded | 8. WoMR @ @ weif g A ¥ el ¥
Paramveer Chakra?
(A) Shaitan Singh (A) St
(B) Virendra Singh (B) Ftfie
(C) Major Hanut Singh (C) R Tvafiie
(D) Piru Singh ::._ -
9. Which of the following pair is not correctly 9. T Qw7 wel gl T €2
matched?
(A) Jaisalmer State Prajamandal - Mithalal Vyas (A) e T4 e — Hierre =4
(B) Dungarpur Rajya Prajamandal - Bhogilal Pandya (B) S 4 SIS - sirfteTe qroEdl
(C) Bikaner State People's Council - Balwant Singh Mehta (C) e T SR - AEardE Tedl
(D) Jhalawar Praja Mandal - Mangilal Bhavya (D) SeaTE TS - AT W
10. Who started water, forest and land movement for 10, e Sy 5 e g S, ST S stered
the upliftment of Bhil tribe? R — .
(A) Motilal Tejawat (A) BT Semaa
(B) Mama Baleshwar Dayal (B) 11 SRR T
(C) Surji Bhagat ()T W
(D) Manikyalal Verma D)mfmEeE e |
1. Which farmer's movement of the state echoed in | | 2o b e St i Pt 0 e it
the House of Commons of Britam? s
(A) Sikar Peasant Movement ( A)Iﬂm Fe e
(B) Bijolia Peasant Movement B) fstfra fram st
(C) Bengu Peasant- Movement (C) ¥y Fem WT'FT
(D) Barad Peasant Movement (D) =S foFum aTrem

103M]
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12, What is the ascending order of integration of the | 12.
following princely states of Rajasthan? #?
1. Bharatpur 1. MR
2. Udaipur 2. FEAqL
3. Marwar 3, "EE |
4. Ajmer 4, ST
Code- Fe-
(A) 1-2-3-4 (A)1-2-3-4
(B) 4-3-2-1 {B)4=33-
(C) 1-24-3 x (0)1-2-4-3
(D) 1-3-2-4 " (D)1-3-2-4
13. When was Khejdi declared as the state tree of | 13. TSt Tl Teedr H T 4 =it o T2
Rajasthan? 3
(A) 21 May 1981 (A)21 7d 1981
(B) 31 October 1981 (B) 31 SRR 198
(C) 31 October 1983 (C) 31 ¥ 1983
(D) 21 May 1983 (D)21 +% 1983
14. In December 2022, 5 schemes of 4 departments | 14 fegram 2022 o 759 IR B 4 Taumt Y 5 deee
have been included in the state flagship program & W2 R wEma F wite e T = s
by the state government, Which one is not included TromTet 8 w27
in these 5 schemes?
(A) Mukhyamantri Anuprati Coaching Scheme (A)gert ST <hfe T _
(B) Rajiv Gandhi Scholarship for Academic | (B) 7ol ieht wviefira wht whefirs waeiis
Excellence . o _ |
(C) LM. Shakti Udan Scheme | (C) 3 . Wifve T At |
(D) Mukhyamantri Bal Gopal Sc_heme (D) H@1Ht a7 v Fre
[103M] Page énﬂs T
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3. Identify the mismatched one from the following- | 15. fr o @ swgufeaa ) g HL-

Player Game flereiret EC ol

(A) Krishna Nagar - Parashooting (A) o AR - fergfen

(B) Magan Singh Rajvi - Football (B) W fifg Tl - el

(C) Gauranshi Sharma - Badminton (C) ity - arsfie

(D) Savita Poonia-  Hockey (D) gfwi - B!

6. 'Which of the following is not a regional research | 16. & fifa = W &4 Y7 % TR el

station ofthe Central Arid Zone Research Institute? &1 8t STEarA %% 81 87

(A) Bikaner (A) st

* (B) Jaisalmer (B) SHTR L i
i ey o @RI Eram AP Tt
(D) Barmer (D)=sH
7. Match the following and select the correct answer | 17, fafefan =it gafea sifeg qar 2 gy T He A4

from the codes given below- TE I F T ifo-

List 1 List 2 1 i 2

Industry Location Eiiy _ = i

(1) Rajasthan State () Didwana | () ToemReHiwaaR () G

Chemical Works P 3 '
(2) Hitech Glass Factory (i) Dholpur (2) i e (i) e
(3) Mewar Sugar Mill (iii) Bhupalsagar (3) wars I fie (iif) [areTETR
(4) JK. Cement Works - (iv) Nimbabera (4) 91 . Hiie o (iv) ey
Correct Code- T Fe- B
1 2 3. 4 . 2 3 4

(Aiv il i Aiv i i i

@i i i v @i i @il v
©i @i @i i ©i i i v

@yiv i i i Oiv i i i "

[103M] Page 7 of 48 - T ——

e



18. Which of the following temples is not included in | 18. <emTe1 % W wfex gug & wffen =i 7T #2
the Jain temple group of Dilwara?

(A) Vimalshahi _ (A) fereramel
(B) Bhimshahi | (B) siwamel
(C) Peetlahar (C) Feeret
(D) Lunavsahi (D) sorEaEt

19. Consider the following statements-

19, g el ¢ foram ifere-
(i) The first woman Chief Secretary of Rajasthan (i) TR T 7aw Rfee TEA |fad o

is Smt. Usha Sharma. 2

(ii) The District Collector in Rajasthan is called (ii) 7o oo FoE w1 ' eEfTe e
the 'residuary legatee'. FHEAAE | :

Which of the above is a true statement? L i TR E & 9 T 5

Correct Code- " T e~

(A)only (1) (A) e (i)

(B) only (i @@

(C) both (i) and (i) (©) (i) (i) 3 '

(D) Neither (i) nor (ii) | (D) T & () (i)

20. MoUs of how many crore rupees were signed in (30) 7-8 SR 2022 ) AT TR TR W
the Invest Rajasthan Summit 2022 held on 7-8 2022 H T R S5 T ¥ wHeiy senann
October 20227 ' | vl |
(A) 10.44 lakh crore (A) 10 44 & Fi5
(B) 7.60 lakh crores (B) 7.60 @ Firs
(C) 9.40 lakh crores (C) 9.40 T e

/
(/)
— =
103M] Page 8 of 48 fiEY
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Rajivika has signed an MoU with which @; T 5 e g T & g A P
organization to increase the income of women Wﬁ%mﬁﬁﬁﬁﬁﬁ“m%mﬁ@
associated with Rajivika through fruit processing? TEHRA g U7
(A) Eduscan Technologies Pyt Ltd (A) Tggae T wEae fefies
(B) Jowaki Agrofood India Pyt Tid (B) S Tigs $iew WEae fafies
(C) Sorting Hut Technologies Pyt Ltd (C) i w2 s yae fafies
(D) PepsiCo India Private Limited - (D)t $fe v fafies
Where was the symbolic launch of 5G internet | 22. 3fzaR 2022 H T o sﬁﬁﬁiﬁﬁﬂﬁw
service in Rajasthan in October 20227 e e @ R
(A) Phalodi (Jodhpur) ® (A) el (STHRR)
(B) Nathdwara (Rajsamand) S () 7 ()
(C) Kotputli (Jaipur) (C) Hiegael (SER)

' (D) Pokaran (Jaisalmer) (D) 9T (SHEER)
Who has been appointed as the first chairman of @ T TS I TSt & Tae At @ el
Rajasthan Export Promotion Council? ¥ fondt Frges fopen mran %2
(A) Laxman Vyas (B) Mukul Chowdhary (A) TET = (B) g =t
(C) Rajiv Arora (D) Ramesh Vohra (C) Tfra sriren (D) T 9TEq
The Sahitya Akademi Award for the year 2022 in | 24. T 2022 1 TS| W] 3 FilEed STRIGH! JEEhR
Rajasthani langﬁage has been given to Kamal T T w1 T e it % fed e ey &2
Ranga for which of his works?
(A) Akhoot Taslo (A) G T
(B) Alekhu Amba (B) aTeig T
(C) Mugti (C) g
(D) Akhepatar (D) STETRR

103M] l—ﬁﬂ-ﬂ-nm_l *"”,'“"




25. Player Nisha Kanwar, who has been in discussion | 25. &7l @15 =1 5 1@ faengl 191 % B4 W 3
recently, is related to which sport? Heift -
(A) Kabaddi (A)HagE!
(B) Shooting (B) frramramsit
(C) Wushu O
(D) Boxing (D) gemarsit
26.  Choose the false statement regarding Mallinathji | 26. fg %ol & @ weieesi & S99 ¥ S0 W
from the following statements- S I
(A) He was the disciple of Ugamasi Bhati, (A) 7% St w2t & firs 4
(B) His main temple is in Tilwara (Barmer) (B) fewramer (srght) A v g wicw &1
(©)In 1399 AD, he gathered all the saints of Marwar |~ (C) 5 1399 €. srears it il =) v s
and organized a large scale Hari-Kirtan, 95 sl oS S
(D) He defeated Muhammad Ghori in 1378 AD. (D) ¥=17 1378 €. ¥ ewr T F W fe a1
- 27. Match List-I with List-11,  omeg | 27 L G R e i
List-I List-IT Lo T 11
(a) Saint Maviji (i) Bishnoi sect ' (a) 9 TS (i) fawiré worem
(b) Saint Haridas (if)Niranjani sect (b) Ha efem’ (ii) Frert Torm
(c) Saint Ramcharan  (iii) Ramsnehi sect (c) T T (i) T Ty
(d) Saint Jambhoji (iv) Nishkalank sect (d) &9 i (iv) Frepeies Topery
a b c d a b . d
CVE B A (A)ii v
®)iv i Biv i o
(C)iv 1ii i1 i (C)iv iii ii i
D)iv i iii Dyiv i i
[103M] Page 10 of 48
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28. When is Kapil Muni's fair helq iy Kolayat of | 28. #fami fordh % e # Hfva P AR
Bikaner district? B-
(A) Kartik Amavasya (A)Ffites ammaen
(B) Kartik Purnima (B) Fhfiter gfofm
(C) Magha Purnima (C) wma yfife
(D) Vaishakh Purnima (D) dm gfifan
29. Which of the following is not correctly matched- | 29. i # @ ®iwan w8t gifera 721 -
(A) Damana - finger (A) g - e
(B) Mokadi - hand ' e (B)Hiwegt - €19
(C) Nupur - Throat E: . (C) T - Tem
(D) Toti - Ear (D)2t - =M
30. Which painting style has its own characteristic of | 30. TRE¥fl Sym firg et =1 eroFT fererean &
transparent costumes?
: (A) Bundi painting style P tﬁ}@ﬁaﬁﬁ
(B) Deogarh painting style (B) 2o femdiet!
(C) Jaipur painting style (C) STt ferdiet
(D) Nagaur painting style (D)AriR fa=ien
31. The 'Bassi' of Chittorgarh is fameus for- - 31, Fadteme &1 o’ e foe Wi &-
(A) Gold work (B) Clay toys (A) S = (B) firzdt ¥ Fasity
(C) Wood art (D) Phad painting (C) T el (D) wg famm
32. Topkhana Mosque, which was formerly a Sanskrit | 3 g nfewr, it vd # Tom v siwt gy fftda
school built by Parmar ruler Bhoj, is built in which e vowTen o, fRE g e gE R
fort? u
(A) GagronFort  (B) Junagarh Fort (&) (B) T 3
(C) Jalore Fort (D) Ranthambore Fort (©) e g (D) Tervsie it
[103M) Page 110f48 T
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33. Who got the Naulakha stepwell constructed near

34,

35.

Dungarpur?
(A) Nathavati
(B) Primal Devi
(C) Ramrasade
(D) Chandvati

Consider the following statements and select the
correct code-

L. Walar dance is performed only by men.

2. No musical instrument is used in Walar dance.

3. Walar is a famous dance of Garasia tribe of
Sirohi region.

Correct code -

(A)1and2
(B) 2 and 3
(C) 1and3
(D) 1,2and3

Which of the following is not a sub dialect of
Dhundhari?

(A) Torawati |
(B) Rajawati
(C) Godvati

(D) Nagarchol

34.

35.

(D) =gt
firw el R ForaR G0 2 1 T Fifog-

1. AR ae ToU g e S aTen 7 #1
2. 9T 94 ¥ foelt o 43 1 W9 TR B B
3. e R i e e o e e

T FE -
(A)132

(B)293

(€)133

(Dy1,293

e & 9 it Gardht ot swaireh = 3

(A) TR

-(B) TeTaR

(C) Mt
(D) TrREE

[103M]
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36. Consider the following statements and select the Ei:’ fir o] R foram ot T R H T4 HIfE
correct code- : -
I. Rajasthani language developed from Maru 1. o s i o S A -
Gurjari Apabhransa.
2. Dr. Grierson has divided Rajasthani dialects 2. 2. fire ¥ Towar Sifadl @ 9= TS i 4
into five main classes, T E |
3. The period of Rajasthani literature from 1050 3. o wifee #1050 F 1450 3. T 1 s
to 1450 AD is called Bhakti Kaal, s e e €|
Correct code is- W 2 -
(A)1and2 (A)192
(B)2 and 3 (B)243
(©land3 | 3 (©1a3
(D)1,2and 3 (D)1,293
37. Which of the following is not correctly matched- | 37.- @ 5 § S wet wiferm e §-
(A) Madhodas Dadhwadia - Ramraso (A) e gEaed - R
(B) Isardas - Hariras (B) 39 - &g
(C) Prithviraj Rathore - Veli Kisan Rukmani Ri (C) gt Ters - ft feror wemoront &
(D) Suryamall Misan - Senani (D)¥we faor - St
38.  Which of the following is not a novel by Nathmal | 38. o @ S mﬁﬂqﬁiﬂ?ﬁ‘ﬁ?ﬁ - |
Joshi? '
(A) Abhai Patki (&) o e
(B) Dhauran. Ro Dhori (B) a3 9
(C) Ek Binani do Bind . (C) T i 2 e
(D) Jog - Sanjog (D) S - i
(103M] Page 13 of 48
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39, “The false statement regarding Vijaydan Detha is- @ oo e 35 gt o B €
(A) He was born in Borunda (Jodhpur). (A) 51 o s (sge) # €9
(B) Aol Palckar made a film named Pabeli on | (B) T i o s < ST R 3
his folk tale Duvidha. e fifed &R |
(C) His folk tory collection Batan Ri Phulwaribas | (C) 7t e ey i i € e 14 Wy
14 volumes.
(D) He was awarded the Padma Shri in 2012. (D)5 2012 ¥ wEHA 3 g o T
40. Match List-I with List-T and select the correct | 40, @_m@_ngg&mqﬁmwﬁﬁmﬁ
answer using the codes given below : ST RGeS G
List-I Listll E: ; -1 F-11
(Crop) (High Yielding Variety) () (3= 9 FFem)
(1) Wheat " (i) Mahi Kanchan (1) A (i) TTEt e
(2) Gram (i) REB30 (2) = (ii) SRTT-30
(3) Millet (iii) Dahod Yellow (3) T (i) < ¥
(4) Mecea (iv) RAJ-3077 (4) T (iv) T9-3077
Correct Code- T e
il Hme B
L @iv i 6 i
@) iii iv i i IR
©i i v i G B b i
g & O)iv i i i
[103M] Page 14 of 48 ol
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P
. Match the river-tributary river- 41, T = = e -
List-I List-11 T =11
(a) Sabarmati (1) Anas (a) SR (1) =T
(b) Banas (2) Sagi (b) T (2) @i
(c) Luni (3) Dai (©) Tf ()=
(d) Mahi (4) Vakal (d) 7 (4) 5Tl
a b c d a b c d
a4 3 2 1 Ty Vs il
(B)3 2 1 4 Oi%E (B)3 2 1 4
1 & A g sl o2 4 s 17
(D)1 3 2 4 (D)1 3 2 4
Which of the following (Wildlife Sanctuary- | 42. Fwfifian i s (a=ia srog-foen) ghfaa
District) is not correctly matched? &l 87
(A) Sawai Mansingh - Jaipur (A)Far AT 'w
(B) Kesarbagh - Dhaulpur  (B) FTEm - ks
(C) Bandh Baretha -  Bharatpur (C) = =tat - AR
(D) Shergarh - Baran (D) 3Tz - W
. The incorrect statement regarding Bhil tribe is- | 43, - sfiet SFnft % wein H v wu &-
(A) Their houses are called 'Ku'. (A) T R ' FEEm ¢ |
(B) The head of their panchayat is called 'Sahlot" (B) ¥h! e 1 i@ *Heia’ e ¥ |
(C) The shifting cultivation done by them in the (C) v Br Herlt ol ¥ W et T
plains is called Dajia. =i ‘g’ e o ¥
(D) Faire-fuire is the ranghosh ery of the Bhils. (D) SRt sl o1 o & |

103M]
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44,  Accord;

43.

46.

g to Census 2011, which districts have
the highest rural sex ratio and lowest rural sex ratio
rﬂspectively in Rajasthan?

(A) Dholpur, Pali

(B) Pali, Tonk

(C) Dungarpur, Jalore
(D) Pali, Dhﬂlpltr

Which of the following is the correct ascending

order of mountain peaks?

(A) Dhonia Dungar - Dora Mountain - Kho -
Sajjangarh | |

(B) Dora mountain - Dhonia Dungar - Kho -
Sajjangarh ' | i

(C) Sajjangarh - Kho - Dora mountain - ﬁhonia
Bl N

(D) Dora mountain - Kho - Sajjangarh ! Dhonia

Dungar

In which of the following districts of Rajasthan,
Inceptisol soil is found?

(A) Bharatpur, Dausa and Alwar
(B) Kota, Baran and Bundi

(C) Jaisalmer, Barmer and Bikaner
(D) Pali, Bhilwara and Sirohi

44,

45.

46..

Wmﬂ%mmﬁﬁmmﬁ
HE?

(1) HireTgy, et

(2) wit, iR

(3) RE, TR

(4) TR, i
Prefirfien 3 2 vk < 1 ) S e 2

{A)gﬁ'ﬁmé'r{—ﬁ'{[ﬁ -@'—w

BB - S -

(€5 - i - <0 e - e g

o & frmfifias 3 & i foit 3 sRiee T
o et 32

(A) ¥R, ¥ 3R s

(B) T, a1 R

(C) SH, WS aﬁﬁ“lﬁmﬁx .

(D) e, sfrerarg <At feiet

(103M]
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77, According to Koppen's climate classification, e | 47, 27 & S aR F ST frafete’
mismatched pair among the following is- e 7 §-
(A) Bshw - Nagaur, Jalore \ (A) Bshw - i, ek
(B) Bwhw - Bikaner, Ganganagar (B) Bwhw - Fer, T
(C) AW - Banswara, Dungarpur (C) Aw - =aTe, w
(D) Cwg - Sikar, Jhunjhunu (D) Cwg - S, T,
48. The only terrestrial meteorite origin crater of | 48, Tw=g™ =1 THAM T ITHIIS Sif el 1o
Rajasthan is located in- 3
(A) Pokaran, Jaisalmer (A) e, S
(B) Bothia, Barmer (B) Sifear, A5 Y Puotor
(C) Ramgarh, Baran (C) T, A
(D) Bajju, Bikaner (D) =, T
49, Which of the following is the mismatched pair? | 49. Frafafgad 4 swgfea 74 &2
Mineral Mining Area afel T &
(A) Panna Kalaguman, Tikhi region (A) w1 H?F%rrgnﬁ, it &
(B) Rock Phosphate ~ Birmania, Fatehgarh (B) T"ﬁtﬁ"@# Wﬁm; TETTE
(C) Manganese Kala Khunta (C) Hrritst I F2I
(D) Wollastonite Kushalpura & Janakpura (D) FiererTEe FETI T ARG
50. The Golden Quadrilateral does not pass through | 50. wifti SqHs Towar & rgfetfi 3 2 fore ISCES
which of the following districts of Rajasthan? &l T 87 '
(A) Ajmer | (A) TR
(B) Rajsamand (B) TsA=
(C) Bhilwara (C) sherrer
(D) Chittorgarh (D) fertge
[103M] Page 17 of 48 —



51.

The mig : -
matched pair among the following is- | 51. Freferfiaa o srgifem 49 8-
(A) Raj
}20 Jasthan Film Tourism Promotion Policy - (A) T fifem T Hiee i =20
22
(B) Raj :
) Rajasthan Toyrigp Policy - 2020 (B) e e A - 2020
©) RﬂjﬂSthan Eco Tour: :
© Tourism Policy - 2021 (C) Trream wiitfeafirent v fifa - 2021
(DY M ;
) ukhyamantri Prayatan Udyog Sambal (D) wert vz wem graw A - 2019
Yojana- 2019
32. Which of the follow:
OWing stat ti v
(A) Teak is f R 52. frfatan & & S w97 9@ 87
cak 1s found in tropical dry deciduous forests i !
b i (A)TeRaH ¥ FIEE 39 [ vawe oA o o
W |
(B) Sub-tropical mountain forests are found in - — 3o o
Mount Abuy, & e
(C) Salar forests are found in the west of {traval]i. (C) =R il a5 SY=E H 9 W E |
(D) Protected forests are found on maximum area (D) Torea H walfos dwe W g o7 o s
in Rajasthan. _ | €l
53. Inwhich village is the Giral Lignite Thermal Power | 53. fire feremge o wifts afidiem fre wita § feura 7
Project located? :
(A) Samdari (Barmer) (B) Thumbali (Barmer) (A)TeEt (areit)  (B) grEeh (S1Ei)
(C) Ramsar (Barmer) (D) Siwana (Barmer) (W (aER) (D) fr (arg)
54. Which type of computers are mainly used in the | 5 feferren iy 4 e o} aeft i H et w9
machines used in the medical field? . . foF eI 3 R ST § T T 37
T
(A) Analog computer oz (A) T et
(B) Digital computer (B) fesirem Fr=gg
(C} Hybnd compuier (C} 'E'EFWE PRI
(D) Super computer (D) §R R
Page 18 of 48
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~ Which ofthe following group s reated to the input | 55. e e G

devices of the computer? .14
(A) Digtize Microphone, Plotter (A) fesfrerser, W15, @<L
(B) Joystick,track Dall, speaker (B) e, 3o o, P
(C) Track ball, digitizer, Microphone (C) ¥ i, fefieresm, "R
(D) Digitizer Plotter, Scanner (D) fesfemer, @i, T
56, Which wave is used for transmission by satellite? | 56. FTIE gRI H= 3 i T 93 2l &2
(A) Radio waves (A) ifsd Tt
(B) Micro waves R (B) & a0
(C) Infrared waves - (C) 3R Wt
(D) Infrared and Micro waves (D) #¥a%e & g T
7. ‘Which of the following is not a search engine? | 57. F=I® T T T 9 e 87
(A) Navigator (B) Baidu | (IA] AR (B) =45,
(C) MSN (D) Alta vista (C) MSN (D) i o

i8.  Which option best represents the 4 major pillars e fore €- ok ¥ 4 wigE wiv 1 S €7

of e-governance?

(A) People, Technology, Government, Resources (A) =i, Trelfent, TR, TEIEe
(B) Technology, Citizen, Government, Process (B) e, TR, SR, Wit
(C) People, Process, Technology, Resources (C) =i, gfsman, drenfiest, darm
(D) People, Process, Government, Resources © (D) @, Wi, SR, T

19, In the amendment of the schedule of RTE made feerart 2022 T %7 TR 5RI RTE sty 2009
by the Central Government using the powers i 4 20 ¥y wiwdl w1 v e gy i g

provided in Section 20 of the RTE Act 2009 in ST & HeE H HE 6 N 8 F Torw weoys frry
September 2022, a provision of one special teacher feeaim =i W T o9 faes LR firr

was made for every how many children with 7

disabilities for classes 6 to 87

(A) 10 ®)15 (4)10 (B) 15
()20 (D)30 e (D)30
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60, T e

0. In which chapter of the

61.

62.

63.

Right of Children to Free

and Cﬂm .
FR: Pl-llsgr}. Education Act 2009, ‘Protection
@ nght of Ch_ildmn'l

A)C

(A) Chapter 11 (B) Chapter IV
(C) Chapter v (D) Chapter VI
Which of the following
the RTE Act 20097

is described?

is a false provision under

(A) The educationa] authority under section 23 is
the NCTE

(B) Section 17 prohibits physical and mental abuse
of the child,

(C) Provision of pupil-teacher ratio is mention
under section 25, '

(D) Constitution of the State Advisory Council is
mentioned under section 33.

According to Rule 5 of the Rajasthan Right of

Children to free and Compulsory Education Rulc.s

2011, the school development plan will be?

(A) three yearly  (B) annual

(C) biennial (D) four yearly

Under which rule of the Rajasthan RTE Rules,

2011, a provision has been made to provide

certificate on completion of elementary education?

(A) Rule-22 (B) Rule-}!?_:” .
(C) Rule-18 (D) Rule-29

Vidyalay Prasaran program conducted by RSCERT
s broadcast on All India Radio for how much time
everyday?

(A) 55 minutes (B) 20 mmnutes

(C) 30 minutes (D) 25 minutes

60.

61.

62.

63.

ﬁ:ﬂwmaﬁmﬁmﬁﬁﬁmﬂﬁiﬁ?ﬂ
2{}[}9-&;1'@ aqtm'qﬁ“ﬁm WWW:W

i &2

(A) 3 1 (B) &&r IV

(OECERY (D) &tAma V1

RTE sififirem 2009 3 s Fefarad 5 & @

HEY &7

(A) 1 23 % e ke i NCTE 2 1

(B) 51 17 & e 3 wdifes 9 At Soig W
IHE

(C) T 25 i Bra-Fer ST 1 W@ € |

m}ﬂm33%mmmqﬁq§%ﬂmﬁ
I ¢ |
TR Trayes v sfterd @ fiem =1 SR

fremmaet 2011 % fram 5 % Ta fammer o Fem

feerett adta Bil?

(A) i ot - (B) wE

(C) fg-=va (D) SR =g

e RTE Frammeett 2011 % fag fam & smrfa

Wi e T FE R E T e e T

wras o T 2

(A) Frm-22 (B) Fam-23

(C) Frm-18 (D) FE9-29

RSCERT BRI Sl foeerd WeR SsHH &1 JEn
st 3fea el W wfafen ferett ety & fax
fepan < &7 | .

(A)55 Tz (B) 20 fiFfe

(C) 30 fire (D) 25 fire

[103M]
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66.

67.

68.

_———__—-__
65. The full name of SIQE, the Integrated Program

launched bY the: Cevernment; of Rajasthan in the
year 2015-16, is-

(A) State Initiative of Quality Education

(B) State Initiative for Quality Education

(C) School Initiative for Quality Education

(D) School [nitiative of Quality Education

As per the provisions of the National Education
Policy 2020, how many steering committees have
been constituted by the Eajasthan government to
develop the state curriculum framework?

(B)3 o
D)6 B

(A)2
(€4 o

Who is the member secretary of the executive

committee of the school management committee?
(A) Elected from among the parent members

(B) Ward Punch

- (C) headmaster

(D) Elected teacher

Which National Assessment Center was set up to
improve the quality of education in the Indian

school education system under the STARS

scheme?

(A) MANAK
(B) PARAKH
(C)NIPUN
(D) DAKSH

65.

66.

67.

68.

WSIQEWEUW%'

(A e it e T
(B) < gimefea i T TP
() e e T TR
(D) ST it ATt T

Hﬁﬂﬁmﬁ\ﬁzum%wwﬂﬂﬂw
mmmﬁwmmﬁﬁ

et w32 w1 e TR TR
(A)2 (B)3
(€4 (D)6

forerers e st T R Wi @ o
gfem g &2 :
(A)mra- e et # @ ﬁa?ﬁm |

(B) =€

(C) 7aHIETR

(D) Faffea srames

STARS 5T 3 ] $IRefra et v oot 3 fipey

o R R H T e v
femar man? '

_(A}rrﬁa
(B) @

(C) Frgm
(D)5
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e e T LI i R AL S

69.

70.

Consider the following provisions regarding free
admission under section 12(1)(c) of RTE in
recognized private schools in Rajasthan-

l. Under this provision, admission in private
schools of the state is being given from session
2012-13,

2. The entry level for admission is Class 1.

3. Online application has been made mandatory
from the year 2016-17.

4. The minimum income limit for the weaker

section is Rs 1.50 lakh.

Identify the flase statements -
(A)1and2 (B)1 and 3
(C) 2 and 4 (D) 3and 4

The objective(s) of Mukhyamantri Rajshree Yojana

is/are-
(i) Overall development of the girl child by
creating a positive environment towards the

birth of the girl child in the state.
(ii) To ensure the enrollment and stay of the girl
child in the schools. 5
(iii) To give the girl child the right to equality in
- the society.
{ﬁr} To reduce mﬁﬁ! mortality rate by promoting

institutional delivery.

Code-

(A) Only (i) and (i)
(B) Only (i, (iil) and (V)
(C) Only (D), (i) and ()
(o) (), (i), (i) and )

69.

70.

e 7 e g e fererdl # RTE @l Err{r
lE{i]{ﬂ}ﬁTmﬁ:ﬁﬂﬁﬂiﬂﬁﬁﬁfmmﬁﬂm

W fem wifae- §
sﬂmaﬁéﬁmm%ﬁ?ﬂﬁmﬁﬁw

F2012-13 A RE AR T

T

. i g A e 1 ¥
m‘:ﬁm—wﬂaﬁwmﬁzﬂaﬁaﬁﬁﬁm

™|

4. ﬁéﬁﬁﬁﬂamwmﬁmwﬂmmﬁ

2
ST FYA B TeTH DI~
(A)142 (B)1493
(C)2d4 (D)374

et At de % IgavE B

(i) T ATt 1 & T TR SR AN

Erchu eaeakaepaten ol

(ii) vt =1 foremerdl iR Td S Gt
m | 2 [
(i) sTferr bl T H ST B SR few

(iv) HETT Y9 H g 29 Wy 9o o §
o

%2-

(A)Fa (i) = (iii)

(B) e (ii), (i) 7 (iv)

(C) et (i), (iil) 7 (iv)

(D)), G, (i) 3 (iv)

[103M]
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71. Identify the correct match. 71. W & wAra-
Psychologist Theory T fagid
(a) Guilford (A) Two factor theory (a) firernid (A) fy-ams FE T
(b) Spearman (B) Mulifactor theory (t) et (B) 7gas
(¢) Thorndike (C) Groupfactor theory (c) DIEEtEET (C)we wve ﬁm‘l’ﬁ
(d) Thurstone (D) Unifactor theory (d) F&=A (D) T TS W
(S) Three dimensional (5) ferdrer 1T
theory
Code : 5z
a b c d g d 2 d
(A)1 2 3 4 i@ A1 ) 3 4
(B)5 1 2 3 SR ®)5 1 2 3
(C) 5 1 3 4 ©5 , 3 4
@a "2 8, 3 .. 5. 5B
72. Which of the following is nat.an aspect of | 7o, fmferfiag 3 & Fwa SHERON 1 T & TE &7
Motivation?
(A) Need (B) Incentive (A) s (B) s
(C) Pressure (D) Drive ()7 ) s
73. Choose the incorrect Pair 7. S ot -
(A) Latent Learning : Tollman (A) T S < e
(B) Bandura Experiential Learning (B) g0 : s
(C) Pavlov : Classical Conditioning (C) T + WA S
(D) Skinner : Operant Conditioning (D) W : eI S
i tioniare a person is
e ol e sl sl i | 4 T sl s,
aggressiveness, egocentrism. it is related to.
(A) Intronersion vs m§@inn - 1 T e
(B) Neuroticism vs emotional stability (B) 5 o s e
(C) Psychoticism vs sociability P —
(D) All of the above D) a'q'-gﬁaﬁ o
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76.

77.

718.

79.

80.

r1oIMlI

T AT TS e e @ e qesel @ e g

antacid tablet bef 5.

Zt;::};::i:m 1.: i cxungle o7 ore having a | 7 i
(B) Negative W (A) trTeR e

rainforcement B) T eI
(C) Positive pun i

Punishment (C) ¥ 75
(D) Negative Punishment (D) oI 7
Which of the following is not an indirect method | 76. T = am;t&l 7fe Tl &~
of adjustmen, :
(A) Roming in imagipgs :
(B) Substituting theg::t:]l?;er roper thinking St
(C) Displacing the anger on wfakp | i G
(D) Repressing the incompatib tha h o m i
Bl gt pa lt e thoughts, (D) srie Toram &1 57 e
(A) Social gy;];;t:rmatiw: e
(C) Behavioural (D) Applied e e
ope (C) =z (D) g
Creative child will have. 78. O e H B
" (A) Fluency : (A) YT
(B) Flexibility (B) e
(C) Originality (C) wifeeman
(D) All of the above (D) s w4t
Which of the following is included in dyslexia. | 79  feefia & wifte &-
(A) Problem in reading out loud in class.. (A) =& 3 W v A HIGAE
(B) Problem in identifying words written on board. (B) aé T fordt st ) wear & e
(C) Both (A) and (B) (©) ()3 () 3
(D) None of the above (D) 57 & FE e
Choose the incorrect pair. . 80. STTE T H 9IT BT |
(A) Weisman : Continuity of germplasm (A) FrTi : disrhr it e
(B) Mendal : Segregation (B) HUSH : GeR
(C) Galton : Biometry (C) e + Sifel Hifiet
(D) [ amiarck : Regression (D) TR ; FERTHA
Page 24 of 48 5k



e

.-.F-____,_.——'-'_—
B, C : oA 95
. Four cars & and D are moving on a level | 81. =R A;B,C 7w D ot

mad Their distance time g]_-aph is shown in the %_ | m q‘ﬂ g T ﬁ-j: ﬁ ?‘,—aﬁq g % I’HEC'
figure. Choose the correct statement- Tfm-
& : C
: D
Distance (m) A {ff(m) DA
B B
Time (s) awa(s)
(A) The speed of car A is more than car D. (A]mgﬁaram[)ﬁaﬁ‘%%i
(B) Car B is the slowest. (B) ¥/ B F&d disft 21
(C) The speed of car D is more than car C. (C)THITDE-ﬁﬁTEIﬁTF{-C‘Q AfF T |

(D) The car C is the slowest. (D)FRC e i 2 |

). An apple falls from a tree to the earth due to the | 82. ﬁﬁ@ﬂﬁﬁqﬁﬁﬂﬁﬂ,ﬂﬁa%ﬂ%ﬁa

gravitational force between the earth and the apple. TR S o fiman & 19f% E?ﬁﬁ Ta R SR
If the magnitude of the force exerted by the earth ey ol F, ¥ e e gR1 e O SR 56 <6
on the apple is F, and the magnitude of the force ofiEm F, § -

exerted by the apple on the earth is F,, then-

(A) F, is much more than F,.

(A) F, %t ger # F, 5ga m’r‘uaaim%f
(B) E, is much more than F,. (B) F, =1 gor & E, wga st g ¥ |
(C) F, is only slightly more than F,. (C) F, 1 gor # F %aw el sttt e %n
(D) F, and F, are aciuai- (D)F, 8 F, @R e ¢ | |
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83. The pPower

ofa motor is 2Kkw. How much water | 83. ¥1(fet
C - 231 HpAll =
an tl'.llﬂ p'l,'l]'[]p hﬂ up to a hﬂlg]ll of 10 m, per = 10 ]“Fﬁm e TN E
minute? (Given g = 1 m's?) 10 m/s)
o)1)
(B) 1200 kg o (B) 1200 kg
(=)
(C) 1800 kg (C) 1800 kg
(D) 2400 kg (D) 2400 kg
84.  On mechanica] I pianos a key is first pressed softly | 84, i firdi = ot ot o et HiE @ ot Frm i
and then loudly. Second sound is- | Tam T | G AR ST waf -
(A) will be louder than the first sound but its pitch (A) Teett waf7 | werm Bl W THH a7
will not differ will happen B
(B) w:ll bﬁ: louder than the ﬁrst snund but lts pltch | (B) Teel! @l | vae B"}"'I"T ] FHH IR 3T
is relatwely hlghﬂr wﬂl happen I T |
!
(C) Will be louder than the first soundbutitspitch | - (C) Wewt a1 | w1 €F Tt wq S5 AR e
will be relatively less will happen. FH B
(D) Both loudness and pitch will not be affected. (D) warera it Tﬂﬁ“ 2 & wefe e Eﬁ |
85. A current of 1 A s taken by the flament of an [ 85, e forgs 7 3 ferste T 1A YR & W &1
electric bulb. The number of electrons flowing |  frere =t s 3 lﬁmﬁmsﬁm
through the cross-section of the filament in 16 I T AT E-
seconds will be approximately-
.|II = [T 1 * 1
(A) 107 () 10%
(B) 10° (B) 10%
(C) 10% (C) 10
(D) 107 (D) 10%
Page 26 of 48 e
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86. A constant current s flowing from cast to west ina | 86. 1% GG SR A ¥ € A Fer e A0 adt
horizontal wire located in the plane of the paper as 7 1 B afrem = 3 s fa Ul ;;aﬁ%'ﬁ

; et

shown in the figure. The direction of magnetic field Herhrg &9 ) fogn I E < @it A3 fag
will be from north to south at a point which s located < e #-
ins

N N

S ) BiE® S

W < E Mol W = E
®7 o

(A) Just above the wire (A) T % S TR
(B) Just below the wire (B) A o &1

(C) Atapoint mtheplane ofthe paper-:}nthe north (C) w3 werdt fegen ¥ el o A H e s g H
side of the wire

(D) At a point in the plane of the paper on the {D)m%aafwﬁwmﬁm%mﬁﬁm@ﬁgﬁ

southern side of the wire

87. A student sitting nﬁ the back bench of ti:le class | 87. =en d wed U o9 W &3 FS faenat THTEE W
can read the letters written on the blackboard, but ford aterl #1 v W ¥, W WaAgEE H ferd

cannot read the letters written in-the textbook. an;]ﬂ % Tl v T | Frefafen § - TR
Which of the following statement is correct. e

(A) The near point of the student's eye is away (A) forene % %3 = Freee forg vy WA T
from him. | ' |

(B) The near point of the student's eye has come to

: famdl % 43 =1 frem
him, | & o 5 s g
(C) The far point of the student's eye has come )
C) Tomndi & =3 =1
closer to him. | © gﬁ%m“’aﬂm%

(D) The far point of the student's eye has moved
away from him. {mmaﬁ%ﬁaﬁ?ﬁimﬂﬁwg
|
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88. s a di — r
8 .;herﬂ 15 a distance of 24em bethen an image | 88, @A ﬂ‘-’lﬂT T =T fepdt ‘Flﬁlﬁm ﬂﬂ?'{ﬂﬁ? ﬁﬂ'ﬁ[%
;rmed by a plane mirror anq it object. The dra 2dom 7 ot & 1 @ AT o 19 7 h
stance between the mittor and the imago wilbe | 871
() dhem (B) 18 cm (A) 24 cm (B) 18 cm
(C) 12 em (D) 6 em (C)12 cm (D) 6 cm
89.  Consider the following statements. 89, Feifutfan el W R -
() Dark colored objects are more thermal than ight | () et g e 7171 g 1 1041 3%
colored objects absorbs less radiation, .t ) T i |
(ii) Heat is transferted.in liquids and gases by (i) 7 Al 3 o e R S € €
conduction. : :
(iii) Mercury is used in clinical theqnum:tcrs. (ﬁanﬁaﬁqﬁmmﬁmﬁm%l
(iv) Those clothes keep us warm in winter. This is | (h;}fﬁ e i & 7 R | SR
because woollen are heat resistant and trap air S A TR & A wﬁ;@&;ﬁ’rﬂmﬂrﬁg
between their fibers. ' (3v) = &
Which of the above statements is/are truc. Swf w4} A-E/ AT
() Only (), (i) and (i) an | (A ¥ ), ) @ i)
(B) Only (i), (i) and (iv) - BN (B) ¥ (i), (i) 3 (iv)
(C) Only (i), (iil) and (iv) (C) Faw (i), (iii) 3 (iv)
(D) (i), (i), (ii) and (iv) (D) () G, (i) 3 (iv)
90, Sulfuric acid clouds are found in the él:nnsphere 90, | aﬁqﬁ - W e PR C—
of which planet? TR
(A) Mercury : (AT
(B) Mars (B) e
) Venus
© )T
(D) Naptune (D)=
Page 28 of 48 T
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'9_|_ Process A : When sunlight Passes through a prism,
it splits into seven colours,

Process B : Some substances absorh light,
Process C : Odor of the substance changes.
Process D : Sound is produced,

Consider the following processes- -

o

(A) Process A, B is a physical change, @7
(B) Process A, B, D is a physical change.
(C) Process B, C, D is a chemical change, -

(D) Process A, D is physical while C, D is a
chemical change.

92. Identify the correct code by matching the types of
colloidal systems given in List-I with the names
given in List-IL _

List-I Lllst-u hy
(i) Selid in liquid (a) Foam
(ii) liquid in solid ®)Sol
(i) liquid in liquid  (¢) Gel s
(iv) Gas in ]jqﬁlid (d) Emulsion

i ii

i
[Aj-b c Id a
Bb a d ¢
@ B T
(D)b d

v

91.

92.

——-_-_-_-.--__—
mﬁ:mt{dmwﬁﬂﬁﬂw%?ﬂm

il ¥ fores g # |

WFA B : o TEd Y s 4 € |
W C & ity e 0 €

TR D : v Sl B 8 |
freAfetiag werml T forEm -

(A) & A, B it T 2 1

(B) 35 A, B, D i i &

(C) ¥ B, C, D Tt fted ¥ |

(D) 557 D A s QD ety <t

LU R 1 m"ﬁg
o1 ey i) T v ) eI R
T @ iferm e 5 TE FE B TwHAH Bl
-1 g-11
(i) FE Y (a) B
(i) aﬁnffmj (b) T
(idi)ze o 59 O
(iv)7a & 7 (d)
i i il v

Wb ¢ d a
®b a2 d o
©a b ¢ d
Ob d ¢ a
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23,

94,

05.

96.

97.

Which of the following correct statements is-

(A) Both acids and bases change the color of all
indicators,

(B) If an indicator changes color with an acid, it
does not change color with a base,

(C) If an indicator changes color with 2 base, it

does not change color with an acid.

(D) The color change in acid and base depends on
the type of indicator,

The value of angular momentum of the electron

present in the Nth shell of an atom will be-

oy 2N, .

A = KB}
2h h

©= (©) 5

Ethene is formed when ethyl alcohol is heated with
concentrated H,50, at which temperatures-

(A) M3K ®413K’

(C) 350K (D) 553K

In which nne-uf the following reactions the major
product formed is used as a flavoring agent?

(A) Esterification ' (B) Carboxylation _

(C) Trans esteriﬂcat'ion (D) Dghydratian |

What is the nature of the leaves of dock i}lﬁ,ﬂt?
(A) Acidic (B) Basic
(C) Neutral (D) Amphoteric

93,

94,

95.

96.

97.

P 3 @ A o A € -

(A) o771 3R & Qe o g b oA
FAE |

(B) 4% Y ger a7 35 e o i e <l €,
A T G 3 Y O afad 8wl

(C) A 1 g e 3 o ofeafi T 2,
o 37 & E1Y 71 YRae 76w |

(D) s it e # {1 R G & B W
fritwm e

fortt oo 35 N & e ufeetfs @A 1 B
ﬁﬁanﬁm—

(A) %f—;‘ (B) ;:17:

[C]-% (D) %

TuTE TesiEd =1 e fRE W E® H,80,%
w1 T o e e

(A)443 K (B)413 K

(C)350K (ﬁ}ssak

e 2 o o ST ) T e 1 SR
T I91 T a1 HRE & B9 Y fomar S R
(A) T (B) et
OimTeimn (D) frdmm

SR F R e

(A) Fsits (B) &dg

(C) et (D) ¥yt

[103M]
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09.

100.

101,

‘Iq.._‘__-__
(1030

mh one of the following reactions

e O P ]l T e

is of
metathesis type?

(A) Hy+ 0,—2H,0
(B) Na,SO, +BaCl, — 2NaCl + BaSO,
(C) Zn +CuSO, — ZnS0, + Cu
EBHEE

(D) H,C0, - H,0+CO, «

What will be the total number of electrons in 8

grams of oxygen molecules?
(A) 6.022x10% (B) 12.044x102
(C) 18.066x10% (D) 24.088=10%

In what proportion are the isotopes of cb]nrme {CI”
and CP®) found in nature. -

(B)3:1
(D)2:1

(A)1:3
(C)1:2
Select the correct option from the following.

(A) In plants, collenchyma is a fundamental tissue
which provides mechanical strength due to

lignification.
(B) The cause of hardness in pear pulp, stone fruit
and legume plant seeds is collenchyma.

(C) In plants, most of the xylem is dead except the |

xylem vessel.

(D) The thickness of the plant and the increase i
the number of annual rings are mainly due to
the lateral meristem.

98.

T & @ B T ﬁf‘.@“

(A) H,+0, = 2H,0
(B) Na,SO, + BaCl, = 2NaCl+BaS0O;s
(C) Zn+CuS0, = ZnSO, + Cu

(D) H,CO, - H;0+CO;

09, 8T Siferite SUSH ¥ el e i 9EAl fepert
Bht?
(A) 6022107 (B) 12.044x10%

(©) 18. nﬁﬁxmﬂ {D} 24, nssxmﬂ

100. u?ﬁiﬂaﬁﬁfﬁ?wmﬁi(m“ rmcpﬁ)i-“ﬂaﬁqﬁ

¢ | =
“(A)1:3 B3]
©)1:2 (D)2:1

101, Firer 3 & e ooy 1 < for |

(A) T H TYERIvieE U SURYR 0 © S

!___ﬁ*maﬁﬁmﬁmm%l

(B) Tttt %1 T, SHfe el 9 Srgn ured 3 sy
s 1 ] ST 2§ 1

(C}mﬁﬂﬁﬂq“ﬂaﬁﬂmﬁmqﬂw%ﬁ
afsfreR = Brew

@}m’ﬁﬁﬁrﬁaﬁﬁﬁaﬁﬁaﬁmﬁ%
T IR A & S e R |
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102. Choose the 0dd one out from the following-
(A) Glinson capsule — covering of liver
(B) Melatonin hormone = thymus gland
(C) Androgen hormone Ledding cell of testis

(D) Podoeyte cell — in nephron

103, Choose the incorrect statement from the following
regarding vitamins-

(A) Vitamins are the main sources of energy in the

body, whose digestion Special enzymes are
responsible for

(B) Lack of tocopherol can lead tﬁ infertility.

(C) Pellagra disease explains the deficiency of

niacin,

(D) Both options (A) and (B).

104. Which of the following option is not correctly
" matched with the disease and the causative agent?

((A) Syphilis - Treponema pallidum bacteria

(B) Typhoid - Salmonella typhi bacteria

102, et @ srgaferm fomes 1 =

frer 3§ faafer % el o B A T
-

(&) forfrn it 3 i 35 e i 4 &,

ar=q
3 fird oty g vl B0 ¥

(B) Arier 3 vl gt €1 oben ¥

103.

(C) e 3 Ferafir ot <helt <6t = € |
(D) forrea (A) 7 (B) 3 1

e o & e faerea U0 9 T R | TR i
T &2

 (A) ferwferm - vt Yefren fam
(B) PTEFES - WA R S

104,

* .(C) ﬁs@q’ﬁf\aﬂ'{ - m m
(C) Hydrophobia - Rhabdo virus i
B (D)7 - e ARRE
(D) Dengue - Mixo virus .
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106.

l-‘-‘-‘-III—_
(103

correct ﬂptiﬂﬂ‘

gtatement (A) : Ribosome is g single membrane

bound organelle involved in protein synthesis,

Statgmﬂn.t (B): Hydmlﬁic €nzymes are stored in
lysosomes which are double memhraneﬁ celi

organelles.

statement (C) : The nucleolus is the main center

of ribosome formation in prokaryotes,

(A) All exéept statement (A)

(B) All except statement (B)
(C) Both statement (A) and statement (B)
(D) All the statements are false.

Which of the following option is incorrect with
respect to oxygen respiration?

(A)It is impossible without oxygen.

(B) In this, the final products are C(j!and H.O and

more energy.

(C) It takes place only in mitochondria and lactic

acid is formed as the end product.

(D) Both option 1 and 3

(C) A (A) d W (B) Al
(D) ¥t e e ¥ |

106, Fim 3 2 s Fore sttt 3 vl A SR
27

(A) T o sifeiior & T9md B |

(B) ¥ 3if= 3% CO, @ H,0 = sifvres =it €1
£l

(C}Waﬁﬂmﬁﬁﬁwﬁwﬁm%ﬁm sifim

(D) foemea 1 wd 3 S
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107, Whigh o o————

T TR R DT L i —

07. Whi
ch part of tpe human brajn regulates vision
center and ult‘acmry center?

(A)C
) Cercbrum 510 S

©c ‘
) Cerebellum (D) Medulla oblongata

108. Whi inis |
Which of the following hormones is not selated to

the contro] of uripe funnaﬁan?

(A) Aldosterone (B) Collip hormone

(©) Vasopressin (0} Thymasin

109. Select the correct option from the following-

(A) Government of India gave legal approval to
MiBn 1070, 70 A P

(B) Saheli contraceptive oral ﬁills were first
manufactured by the Institute CDRI; Lucknow.

" (C) Luteinizing hormone"is ‘the main hormone

responsible for ovulation.

(D) A1l th S hatci e i
1-1{}. In which paﬁs of -thé'a]'iﬁmntmy.canﬂ in humans,
food is not digested?
ﬁ{.ﬁ.i:) arai -c-avity, stﬂmach, p]lar;m __ ul
(B) pharynx, esnphagus;_;ﬂgmm N

(C) rectum, stomach, small intestine

(D) oral cavity, duodenum, stomach

107 TF7ey AT 2 e T g, AT i e

H B-
- (A) wefer=R (B) TR
(C) srfare (D) Fgen S

108, =t 8 3 i gt o3 Fwfor 3 P01 & Weifi
T g e '
(A) TEErREA

(C) Fumfe

(B) wifed g
) i
109..f 5 J e e =1 W hferg-
(A) WIW% MTP &t st =itgpfa 1971 5 <
(B) wevem et o P i fie 1 Fi
~ CDRI, w4 foan) _
(e i o e
. ....‘@J?ﬂ'@ﬁ??ﬂﬂww ¥

11u.ﬁmﬁmw%ﬁﬂwﬁﬁ'%qmw#f

(A)T&TE, s, ey
(B) e, wree, T
(C) wreimes, stmrea, Bt e

(D) 7@ 81, 7=vit, s
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L Bl s L

(

-

R

m a natural number, n’(n*-1) is completely
devisible by ?

(A)12

(B) 24

(C) 12-n

(D) 16

112, How many five digit numbers can be formed using

the five digits 1, 2, 3, 4 and 5, Which are completely
divisible by 3. (No digit should be repeated)

(A)0

(B) 12 s
®:

(C) 120

(D) Infinite

113, Choose the false statement from the following-

(A)Multiplying a rational number by a rational
number always gives a product rational

number.

(B) a and b are two different irrational numbers,

then a/b will always be irrational.

(C) Unit's digit of the product of first 20 prime
numbers will be zero.

(D) There are a total of eight prime pairsup {0 100.

111, =t n s wigea g & @ n(n®

112.

113.

1) ia e
fervifir Bvm?2

(A) 12

(B) 24

(C) 12-n

(D) 16

e ot 123,495 H A A U st o wH Y
fdy et wE T TRt &, S 3 o T
21 (Tt off o7 ot gIE A @)

(A) 0

(B) 12

(C) 120

1 4 2 oo Ty B

(A) Wit e i ST e | O i WSt
Ui S W B S |

(B)a 7 b srew s WAt R ab wia
It T |

(C) eI 20 S T S5 e 3 s
1 3T [ B

(D) 19 100 7 F 3T 31w 7w o 3

"--...__‘_-__
[103n)
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e ——— e

114. Find the valye of NEND fm
(A)2
(B) 4
©3

(D)9

115 ,i = kL]
If x —(x‘) then the value of x will be-

(A)0
(B)1
_
3 O e:
© 3 .

9
(D)?f

116. Ifequations4x+3y+5=0 and 6x—ky—~7=0have

‘no solution, then find the value of k?

(A)-4.5 (B)-8.5

(C)8.5 (D)4.5

117.
is remainder and 2x* + 3bx + 5a is divided by x —
3 then 65 is remainder. So what is the va]pg: ofa+

114, ,f[aﬁ-sq’ﬁ](9+z..a’1:§] <51 | &2

(A)2
(B) 4

(©3
(D)9

115, e g =) X A B

(A)0

®)!1
©3
O ;

116, af gt 4x +3y +5 = 0 R 6x —ky 7 = 0

¢ T 7 8 9 k 5 HE R aem?
(A)-4.5 (B)-8.5
(©)8.5 '(D)45

When 3x2 + 2ax + 4b is divided by x + 3, then 15 |3x1-!-2ax+4bﬁ7=ﬁx+3'@fﬁ‘*ﬂfﬁﬁﬁmm%1

15 99 30 & R 202 + 3bx + 52 W x 32

ERIEEEZOR A T T i ST S——
&

b?
(A)9 (B)6 (A)S (B) 6
©7 @1 ©)7 (D) 11
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T L e

12
?' W) ______‘_,__---”’
(e ofthe 21088 OF X4 528 e TTs, W S x- AT T w2 T
find the other Zer0es. iﬂ'ﬂ .
[f’k} 3.5 (B)-2,3 (A)-3,5 (B) -2, 3
(C)-3, -4 (D)3, 4 {C)-—l 4 (D) 3, 4

10, the roots of the quadratic equation are o and B.
Wu+|}=ﬂaﬂdﬂ—ﬁ=2mthantheequatiun
is-

(A) 2~ 8x+15=0

(B)x*+8x—15=0 :
@
{C] f—E:{—- 15=0

(D) x2+8x+15=0

2

3 1
120, Factor of expression % + -}% xy -2y is-

119.

120.

ﬁ@mm@%wu#ﬁ%laﬁﬂ+ﬁﬁﬁ
ﬂmu—ﬁ=2%?ﬁﬂTﬁﬂﬂW%-

(A) X —8x+15=0
(B) %2+ 8x—15=0
(C)x*—8x—15=0

(D) x* + 8x+15=0

. 17
T —+ - xy—2y* % TUEYS §-

2 M
@ fsx 4;(2 3
— —— _x——.
2 373, 2
i r
3 4 Y2 3)
—X+—=v | =x==
(B) (3 37 )\3 27
/ \'r'
3 4 W2 g
C) |'sx+zyY || =x+=
( }k4 33?’&3 2?)

o)

e —
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121.

122,

A i
S 1t[1:ader bought twg articles for Rs, 1800 each, By
clling them, there js 4 profit of 20%

T - on the first

0f 20% on the second item, then

what 1::?. the final percent of the profit or loss did he
make in this dea]?

(A) 4% profit

(B) 4% loss

(C) 20% profit

(D) no profit no loss

A bag contains an amount of Rs 110 which is in
the form of coins of Rs 2, Rs 1 and 50 paise. The
ratio of coins numbers is 1 : 2 : 3. How many 50
paise coins are in the bag?

121.

122,

T A 100 0w

# 153 e e ek g 7 20% T T
wwn%aﬁmzﬁ?ﬂmﬁﬁmﬂm

Wi @ g e B4/

(A) 4% T
(B) 4% w1f
(C) 20% =¥

(D) 7 T = &I

@aﬁnnmﬁwwzm liwﬂasn
3 e 3 w9 2 | 7 ] G T S
| :Z:S%ﬁwﬁsﬂﬁﬂ%ﬁﬁﬁﬁ@l?ﬁ?ﬁﬁ

(A) 20 (B) 40 (4)20 (B) 40
(C) 60 . (D80 (C) 60 (D) 80
123. If 8% ofxisequalto 4% ofy. Then20% ofxis 123, af x5 8% .y 3 4% ¥ TR & 7 x 1 20% T
equal to? : BT
(A) y of 10% (A) y 1 10%
(B) y of 16% (B) y#1 16%
(C) y of 80% (C) y #1 80%
(D) y of 50% (D) y 1 50%
124. Tn what time the simple interest on Rs. 002t 3% |\ s oy 500 93 1 WERw = 3 W i
' per annumwiﬂbﬂth'?m?s g A I 1 T T G B, T 900 o 1 e
on Rs.900 at 5% per annum in 2 years? w5 YR e 2 2 o 4 g
(A) 4 years () v (A) 4 = (B) 6 o
(©) 5 years I ()5 (D) 8
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Wﬂ‘erﬂnce between the qlﬁm
- e
mmpound interest on a sum Ufl‘ﬂum}- for2 sy

at 5% per amnum is Rs.15. Then thot amount il
be-

(A) Rs 7500
(B) Rs 6000
(C) Rs 5500
(D) Rs 8000

126. 1f each interior angle of a regular polygon is 1082

then the number of sides will be

WE o o0

(B)7 oA
€6
(D)3

127, Tn figure PQ||ST. Then, the balue ofx+ y s -

(B) 135°

(D) 120° °

(4) 125°

(C) 145°

-
125, Teel Wﬂ'ﬂt&%m’fﬁﬂimﬁﬁ
— et LT S EA
TE T B -

(A) 7500 T
(B) 6000 w72
(C) 5500 T34
(D) 8000 ¥72

126. foreht R S S i 108° @
IS Bl G w2 .

(A)8
(B)7
(€6
(D)5

127. & 78 mnat # PQ|ST T& x + y &l A -

(A) 125°

(C) 145°

(B) 135°

(D) 120°

l103v)
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128..In AABC, D

129,

130.

____.——I—]E"'Em ﬂ'r",‘#}._’qﬁ

is drawn parallel to BC and
AD 2
DB 3 . Then the ratio ofthe arcas of AADE and

=DECB will be?
(A)4:9
(B)4:21
(C)4:5

(D) 4:25

Find the value of x?

(A) 10 cm
(B) 9 cm
(C) 7.5 cm

(D) 11 cm

Find the percentage of material lost in converting
a cylinder of base diameter 10 cm and 20 cm into
a cone of equal but double height.

(A) 25%
(B) 20%
(C) 35%

(D) 33.3%

128, &l AABC H BC % HHTR

129.

130.

AD 2

DB 3
ST #r?

(A)4:9

% 3 AADE 9t oDECB ® WAHE

(B)4:21
(C)4:5
(D)4:25

xﬁr?ﬁﬂ%-

(A) 10 ecm
(B) 9 cm
(C) 7.5cm

(D) 11 cm

FuR = =M 10 ¥4 &Y 20 S 9@ v ger 9
o o T e % W A o et o T g
ey &1 W F hifer |

(A) 25%
(B) 20%
(C) 35%

(D) 33.3%

[103M]
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T

(i

H-_-J{: 7 o —

Wﬂm&ums 20 mﬂ

: [f the thickness of the wood s | )

%10 em,
find the

yolume of wood used in making the i

(A) 1120 cm’ (B) 2400 cny?

() 519 o’ (D) 960 e

132.

[fthe side ofa cube is increased T S R

increases by 1468 cn’, then what was the side of

he cube in the hegimjng_
(A) 7 cm (B) 8 cm

(C)9 cm _ (D) 11 em

133. A carpet is 5 mlong and 1.2 m wide. It has a printed

border of 30 cm on all four sides. Find the printi
r rfbod . L arﬁﬁﬁﬁmanﬁtﬂwgﬂrﬁaw%lzzswﬁ
cost of border at the rate of Rs 225 7 :
i o it o e AT o 2
(A) Rs 854 -
(A) 854 %.
Rs 1027
{B] (B) 1027 =.
C) Rs 756
— (C) 756 %.
D) Rs 902
- (D) 902 =.
134. Area of the largest equilateral triangle inscribed in |-
_ 134. o aifra
acircle is 9,3 cr?, then find the arcd of the circle? e € | 7T TR NS = Sawa
943 W2} W 79 1 e T 2
(A) 12
i (A) 12n
(B) 1243
i B) 12431
(©) 153
g (© 15{3n
(D) 167
(D) 167
T ——
(103p) — page 41 of 48 .

A LI ——
o 20 0 % 12 b 19

131 T aag B ; g%
%mmﬁraﬁ:ﬁa’hﬂﬁr%fhm # 7
aﬁ@mmﬁmaﬂﬁﬁ.l
(A) 1120 & (B) 2400 AT’
(C) 519 Ft? (D) 960 F
468
132, THH ﬂmaﬁz;@n‘iam%%w-aaﬁamﬁ“l
ﬂﬁ’wm%awﬁmm’tﬁm%ﬁﬁ?
(A) 7 &t (B) 8 &
©owt - @uEA

133. wmﬁﬂﬁﬁmﬂﬁTI.Zﬁ!ﬂﬁ@%liﬁ




e ——

T T e ——

T

135. Find the probabilty tha h sum of fhe nursbers | 135. 77 7 1 G a1 ot 51 " o
appearing on three dice thrown together is 17 or 10 17 71 T AV A i -
more?

L ® 57
216 ®) 3¢ " ]
A D) 7=
@ ; ©g ®) 36
54 D) 3%

136. Ifanumber is chosen at randomly from a two digit | 136, < aim! =t den # & T& G& argfesd & q T
number, then find the probability that it is not a T ) T ne o € Y A 6 2
prime number? .

7 23
(A) == = 23 .
3 g ® 5 ® 3
7 3 | .
O D) 75 7 2
10 (D) 10 (C) = (D) iﬁ
137. Th thl diture of a family 1 the :
ﬂm?ﬂ-. e c:a T 137. fet oftan =1 wifess o9 fre faa & oqam 2 13fe
following figure. If the difference between the | 0 S e
expenditure on education and travel is Rs 4000, o

then the expenditure on food is-

" (A) Rs 6000 (A) 6000°%.
(B) Rs 8000 (B) 8000 %.
(R Rs120N (C) 12000 %. A
(D) Rs 16000
f (D) 16000 %.
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i
= I

oL r
=t a

B e

/’Twmlﬁ

[

-1 {he mean of the medig

138, Fmd1 g iSTL Mode and rangs of ] 138, 34 6,6,9,14,8,9,9,8 ) AT,
Thﬂ gnﬁ: Tl T | Rt Fllt Tt 1 =
- T ®-

(A) 10.3 (A) 10.3
(B) 10:5 (B) 10.5
(€)83 ()85
(D)838 (D) 8.8 -

139. The central tendency which is determined by the
wregulator of the intersection point of the "lesser
type pylon' and the ‘more type pylon' is-

(A) Mean
(B) Median

(C) Polymer o
(D) None of these EE‘I:

140, Ifthe difference between the median and the mean
of data is 6, then what will be the difference

between the mode and the mean of same data?

(A) 12 (B) 18

(C) 24 (D) 30

41, What is the example of half-yearly examination
and annual examination respecﬁ‘fﬂx)'? 22

(A) Formative assessment and SummativeAssessment

(C) Both are summative Assessment

(D) Both are formative assessment

139.

140.

oH

141,

?ﬁ?ﬁm' ﬁq'aﬁﬁ

= ‘A TER
% HHE g o e

S 35 o 35 e forg % x- T
T T 8-

(A) A=

(B) e

(C) wgw

(D) T8 & g el

Rreet sifere] S it 9 TR I 6 ] A SETTh
o HIEA ] F G2

(A)12 {B)IIS

(D) 30

aqﬁaﬁmﬂ&ﬂmﬁﬁﬁqﬂﬁﬁ@:ﬁmw
Bl o) ohen OF

(A) TR eI & oTsh Hodreh
(B) B T T i
(C) Bl FrTeeh e S

(D) ST TS e

o
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142,

143.

144.

What measures are taken during remedial leaching
(1) Teaching by forming small groups

(ii) teaching by harsh treatment

(1) Organization of additional classes

(iv) Use of more and more practice sets

Truth code :-

(A) (i) and (iii) (B) (i) and (iv)

(C) (i), (iii) and (iv) (D) (i), (ii), (iil) and (iv)
Diagnostic test means-

(A) Treating learning difficulties

(B) Removal of learning difficulties

(f:i) To find out the causes of learning difficulties
(D) To find out the leaning difficulties. '

A student gets 80 marks on checking the answer
sheet of a test by one examiner, and on checking

the ‘answer sheet of the same test by another

examiner, he gets 50 marks, then what demerit is

prcseqt in this test.
(A) Obje-::tivity”
(B) wﬁsnm
(C) Subjectivity

(D) Non Standrization

143,

144,

(i) stfafear wmanal I
: 251 S9ET
(iv) aifers R i @ T

el §ie -

(A) (i) @ (i) (B) (i) ¥ (¥)

© @, @aEm @ (i), (iif) = (iv)
e wlteyen % e €

(A) st il ol ST FTH

(B) @t HfeTed B AT

(C) st el 35 RN Bl el T

(D) b Hfewgal i T FEI |

forereff 3 Fopelt T witew = TR ofc el &
i g S T 80 3% W B & S e
TR TRl G TG BRI e R 50 37 T4
2 # 1t 58 e & S s e 32

(A) T
(B) Te¥d et
(C) fore frregan
(D) SAHHTIF

1103M1
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145. Which of the following is an auxiliary marerial for -
displaying both transparent and opaque objectsy | e ¥y I wE ww 7
(A) Diascope @A) T
(B) Episcope (B) e
(C) Epidiascope o
(D) Projector (D) R
146. I child has difficulty with decimals, he willfind | 146. firh o T Tevrera o & 0 3 wftera A
percentages difficult too. Similarly, other topic will e T | 56 TR T T Wt e GuniES]
also seem difficult. What is the reason for this w1 T # E HR R
problem in mathematics? &
(A) Cumulative nature of mathematics G (A) TIforel <hi St BT
(B) Structural prﬂbiem in education (B) T = W e
(C) The problém of compartmentalization (C) Prediemre i T
(D) Disappointing crai | (D) FRreTSF TreEHA
147. Which of the following is not a ;:lﬁlc_l—peutred 147, e 3 R et fafly st fafls et &2
method () wfirer sRem fafl
(A) Brain storming method (B) T s fafy
(B) Supervised study method (© < farg
(C) Team teaching (D) T T fafy
(D) Problem solving method
Page 45 0f 48
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148. Whi T g S e
Which of the following terms is common in both | 148. firm % & Fra o8 At 39 qumé L

Morrison's approach and Herbert' approach? o g #7
(A) Exploration (A) ST
(B) Comparison (B) qET
(C) Presentation
C

3 (C) Wt

(D) Organisation "E: ' (D) SHAET
149. Sort out the inconsistent with respect to teaching | 149. ﬁwm?ﬁwm%wﬁm i

approach and its exponent- '
(A) Discovery Approach - Jerome Bruner (A) @ISt 9T - ﬁ'ﬁq ESE

(B) GonceptMapAppmach—PmiJﬂsephD. Novak (B) Hehedl qﬁﬁlﬁlmﬁ - 9. ’ 7

(C) Herbert Approach - William Herbert (C) T T - ﬁw "
(D) RCEM Approach - Prof. HR dave. . (D) RCEM 31T - NS )
150, e fafiy @ gafm fagra i Tl €2

150. Which is not a principle related to induction

method? |
(A) Specific to general (4 fofre & T
(B) Concrete to sbstract | ' (B) 9% & &7l
(C) Known to unknown (C) T J Fm
(D) Rule to example (D) fam & Sgem™
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